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UNIVERSITY OF NORTH BENGAL 

B.A./BBA/B.Com. LL.B. Honours 5th Semester Examination, 2021 

JURISPRUDENCE-II 

PAPER CODE: CC10/CC12 

Time Allotted: 3 Hours Full Marks: 100 

The figures in the margin indicate full marks. 

The students are advised to follow the word limit mentioned below strictly while answering questions.  

The marks will be deducted if answers exceed word limit.  

16-20 marks- 400 words / 10-15 marks- 300 words / 6-9 marks- 200 words / 2-5 marks- 100 words 

 Answer Question No. 7 and any four from the rest  

1. Discuss the legal status of the following: 5×4 = 20 

  (a) Idol  

(b) Unborn Child  

(c) Dead Man  

(d) A mosque.  

   

2. What are the different modes of acquisition of property? 20 

   

3.   Discuss the theories of Corporate Personality. 20 

   

4. “Claim, liberties, powers and immunities are subsumed under the term within 

„rights‟ but it is essential to appreciate that world had undergone four different 

interpretations in its meanings.” In the light of the above statement answer the 

following questions: 

10+10 

(a) Explain and illustrate Hoffeldian analysis of jural relations,  

(b) Critically analyse the various theories relating to the concept of Right.  

   

5. Briefly discuss the relationship of Law and Morals with reference to Hart and 

Fuller‟s view. 

20 

   

6.  (a) Define possession. Explain the significance of Corpus and Animus in the 

concept of Possession. 

10 
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(b) Who has the possession in the following cases: 5+5 

 (i) A, a cleaner employed by B to clean the pool of B finds a diamond necklace 

at the bottom of the pool. A claims the possession of the necklace. 

 

 (ii) A, a security guard of a Hotel finds a jewel at the door of X‟s room. He 

hands over the jewel to a goldsmith to find out what is it? The goldsmith 

refuses to return the jewel to A. 

 

   

7. Answer any four from the following: 5×4 = 20 

(a) Privilege and Power  

(b) Immunity and Disability  

(c) Reformative theory of punishment  

(d) Ihering‟s interest theory  

(e) John Rawls theory of Justice  

(f) Adverse possession.  
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